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Ques No. Question

1 ­ 1995

 equals (A)   (B) 

(C)   (D) 
 
 


Watch Free Video Solution on Doubtnut
 
 

2 ­ 6919

The value of the integral   is (A)

 (B)  (C)

 (D)

 
 


Watch Free Video Solution on Doubtnut
 
 

3 ­ 8588

If   then   (A) 

 (B)   (C) 

 (D) 
 
 


Watch Free Video Solution on Doubtnut
 
 

4 ­ 9940

∫ dx
ex(1 + x)

cos2(ex ⋅ x)
−cot(exx) + C tan(xex) + C

tan(ex) + C cot(ex) + C

∫ dx
cos3 x + cos5 x

sin2 x + sin4 x

sinx − 6 tan−1(sinx) + C sinx − 2(sinx)−1 + C

sinx − 2(sinx)−1 − 6 tan−1(sinx) + C

sinx − 2(sinx)−1 + 5 tan−1(sinx) + C

f( ) = t + 2
3t − 4

3t + 4
∫f(x)dx =

ex−2 log( )
3x − 4

3x + 4
− log|1 − x| + 2 + c

8

3

x

3

log|1 − x| + + c
8

3

x

3
ex+2 log

∣
∣
∣

∣
∣
∣
+ c

1 + x

1 − x

https://doubtnut.app.link/6wk6LhjdST
https://doubtnut.app.link/6wk6LhjdST
https://doubtnut.app.link/6wk6LhjdST
https://doubtnut.app.link/8fpVrlkAiU
https://doubtnut.app.link/eicKUmkAiU
https://doubtnut.app.link/XpXXuokAiU
https://doubtnut.app.link/5Y45gqkAiU


The integral   is equal to­ (A) 

 (B)   (C) 

 (D) 

 
 


Watch Free Video Solution on Doubtnut
 
 

5 ­ 13650

 (A)   (B) 

 (C)   (D) 

 
 


Watch Free Video Solution on Doubtnut
 
 

6 ­ 13719

If  . Then value of   is (A) 

 (B)   (C)   (D) 
 
 


Watch Free Video Solution on Doubtnut
 
 

7 ­ 14548

 is equal to: (A)   (B) 

 (C)   (D) 
 
 


Watch Free Video Solution on Doubtnut
 
 

∫ . dx
2x12 + 5x9

[x5 + x3 + 1]3

x10

2(x5 + x3 + 1)2
x5

2(x5 + x3 + 1)2

−
x10

2(x5 + x3 + 1)2
−

x5

2(x5 + x3 + 1)2

∫ dx =
√x

(1 + x2)
7
4

+ C
2
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2
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3
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+ C
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2
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+ C
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2
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3
4

+ C
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3
2

(x2 + 1)
3
4

∫
π

0
esinxdx = p ∫

0
x cosxesinxdx

π
2

e − p
π

2
e − 2p

π

2
e −

π

2

p

2
p

∫etan θ(sec θ − sin θ)dθ −etan θ sin θ + c

etan θ sin θ + c −etan θ sec θ + c etan θ cos θ + c
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8 ­ 32201

If   then   is:

(A) 0 (B)   (C) ­1 (D) 1
 
 


Watch Free Video Solution on Doubtnut
 
 

9 ­ 32428

 (A)   (B) 

(C)   (D) 
 
 


Watch Free Video Solution on Doubtnut
 
 

10 ­ 32718

 is equal to (A) 

(B)   (C) 

 (D) 
 
 


Watch Free Video Solution on Doubtnut
 
 

11 ­ 32892

f(x) = ∫( dx); x ≠ 0
2 sinx − sin 2x

x3
lim
x→0

f ′ (x)

∞

∫√1 + sin 2xdx cosx + sinx + C cosx − sinx + C

−cosx + sinx + C −cosx − sinx + C

∫ dx
cos 4x − 1

cotx − tanx
ln|sec 2x| − cos2 2x + c

1

2

1

4

ln|sec 2x| + cos2 x + c
1

2

1

4

ln|cos 2x| − cos2 2x + c
1

2

1

4
ln|cos 2x| + cos2 x + c

1

2

1

4
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If

, then (A)   (B)   (C) 

 (D) 
 
 


Watch Free Video Solution on Doubtnut
 
 

12 ­ 32974

 is equal to (A)   (B) 

 (C)   (D) 

 
 


Watch Free Video Solution on Doubtnut
 
 

13 ­ 34212

The value of the integral   is (A)   (B)   (C) 3

(D) 5
 
 


Watch Free Video Solution on Doubtnut
 
 

14 ­ 34373

The value of   is (A)   (B) 

 (C)   (D) none of these
 
 


Watch Free Video Solution on Doubtnut
 
 

∫ dx = a√1 + x2 ln(x + √1 + x2)

+ bx + c

ln(x + √1 + x2)

√1 + x2

a = 1, b = − 1 a = 1, b = 1

a = − 1, b = 1 a = − 1, b = − 1

∫
x3dx

√1 + x2
√1 + x2(2 + x2) + C

1

3

√1 + x2(x2 − 1) + C
1

3
(1 + x2) + C

1

3

3
2

√1 + x2(x2 − 2) + C
1

3

∫
e2

e−1

∣
∣
∣

∣
∣
∣
dx

(log)ex

x

3

2

5

2

∫
b

a

(x − a)3(b − x)4dx
(b − a)4

64

(b − a)8

280

(b − a)7

73
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15 ­ 37079

If   and   is finite, then 

 is equal to (A) zero (B) 1 (C) 2 (D) none of these
 
 


Watch Free Video Solution on Doubtnut
 
 

16 ­ 39158

let  , then the difference

between the greatest and the least value of the function is: (A) 

(B)   (C)   (D) 
 
 


Watch Free Video Solution on Doubtnut
 
 

17 ­ 40000

The value of   is equal to (A) 

 (B) 

 (C) 

(D) 

f(0) = 1, f(2) = 3, f' (2) = 5 f' (0)

∫
1

0
x. f(2x)dx

f(x) = ∫(t2 − t + 1)dt, ∀x ∈ (3, 4)

49

6
59

6

69

6

59

3

∫√ dx
x − 1

x + 1

1

x2

sin−1( ) + + C
1

x

√x2 − 1

x

cos−1( ) + + C
1

x

√x2 − 1

x
sec−1 x − + C

√x2 − 1

x

tan−1(x2 + 1) − + C
√x2 − 1

x
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

Watch Free Video Solution on Doubtnut
 
 

18 ­ 43431

 (A)   (B) 

 (C)   (D) 

 
 


Watch Free Video Solution on Doubtnut
 
 

19 ­ 43433

 (A)   (B)   (C) 

 (D) 
 
 


Watch Free Video Solution on Doubtnut
 
 

20 ­ 44395

 (A)   (B) 

 (C)   (D) 

 
 


Watch Free Video Solution on Doubtnut
 
 

21 ­ 45767

If  , then the

value of   is (A)   (B)   (C) 

 (D) 
 
 


Watch Free Video Solution on Doubtnut
 
 

∫ dx =
√1 − x2 + √1 + x2

√1 − x4
cosh−1 x + sin−1 x + c

cosh−1 x + cos−1 x + c sinh−1 x + sin−1 x + c

sinh−1 x + cos−1 x + c

∫ dx =
(cosx)n−1

(sinx)n+1 − + c
cotn x

n
− + c

cotn x

n + 1

+ c
cotn x

n
+ c

cotn x

n + 1

∫ dx
x4 + 4

x2 − 2x + 2
+ x2 + 2x + c

x3

2

+ x2 + 2x + c
x3

3
+ + x + c

x3

3

x2

2

+ x2 − 2x + c
x3

3

∫ dx = Ax + B log sin(x − α) + C
sinx

sin(x − α)

(A,B) ( − sinα, cosα) (cosα, sinα)

(sinα, cosα) ( − cosα, sinα)
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22 ­ 49542

where (A)   (B)   (C) 

(D) 
 
 


Watch Free Video Solution on Doubtnut
 
 

23 ­ 55150

 is equal to (A)   (B) 

 (C)   (D) 

 
 


Watch Free Video Solution on Doubtnut
 
 

24 ­ 60153

The value   is equal to

(A)   (B)   (C) 

∫ (n ≠ ± 1) = ( + )

+ C

dx

(√1 + x2 − x)
n

1

2

zn+1

n + 1

zn+1

n + 1

x − √1 + x2 x + √1 + x2 −x + √1 + x2

x − √1 − x2

∫ dx
x9

(4x2 + 1)6
(4 + )

−5

+ c
1

5x

1

x2

(4 + )
−5

+ c
1

5

1

x2
(4x + 1)−5 + c

1

10x

( + 4)
−5

+ c
1

10

1

x2

∫{ln(1 + sinx) + x tan( − )}dx
π

4

x

2

x ln(1 + sinx) + C ln(1 + sinx) + C
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 (D) 
 
 


Watch Free Video Solution on Doubtnut
 
 

25 ­ 80739

Let  , then the value of 

 where   ,is: (A) 22 (B) 10 (C) 16

(D) 12
 
 


Watch Free Video Solution on Doubtnut
 
 

26 ­ 84086

If 

, where   then the of   is equal to (A)   (B) 

 (C)   (D) 
 
 


Watch Free Video Solution on Doubtnut
 
 

27 ­ 87387

 , then 

is equal to : (A)   (B)   (C)   (D) 
 
 


Watch Free Video Solution on Doubtnut
 
 

28 ­ 90400

−x ln(1 + sinx) + C ln(1 − sinx) + C

y2 = 2x2 + 4x + 3 and In = ∫ dx
xn

y

a + b + c aI3 + bI2 + cI1 = x2y

∫x [1 + x + x ][2x + 3x + 6]
3
dx = f(x) + c(x > 0)

1
3

1
3

2
3

2
3

1
3

f(0) = 0 f( − 1)
81

8
1296

8

625

8

2401

8

∫ dx = A sin 4x + B sinx + C
cos 9x + cos 6x

2 cos 5x − 1
A + B

1

2

3

4
2

5

4
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If   then  is

(A)   (B)   (C) 

 (D) 
 
 


Watch Free Video Solution on Doubtnut
 
 

29 ­ 92386

If   then   is (A) 

(B)   (C)   (D) 
 
 


Watch Free Video Solution on Doubtnut
 
 

30 ­ 100087

 (A)   (B) 

 (C)   (D) 

 
 


Watch Free Video Solution on Doubtnut
 
 

31 ­ 133979

Evaluate   and the value is (A) 

(B)   (C)   (D) none of these
 
 


Watch Free Video Solution on Doubtnut
 
 

∫ dx = A log
∣
∣
∣

∣
∣
∣
+ c

ex − e−x

e2x + e−2x

ex + e−x + a

ex + e−x − a
(A, a)

( − , − √2)
1

2√2
( − , 2√2)

1

√2

( , − 2√2)
1

√2
( , − √2)

1

2√2

∫ = − (f(x)) + C
dx

x2(xn + 1)
n−1
n

1
n f(x) 1 + xn

1 + x−n xn + x−n xn − x−n

∫ dx
sin3 x + cos3 x

sin2 x cos2 x
sinx + cosx + c

tanx + cotx + c secx − cos ecx + c

sinx − cosx + c

∫( )dx
ex − e−x

ex + e−x
log∣∣ex + e−x∣∣

log∣∣ex + e−x∣∣ + k log∣∣ex − e−x∣∣ + k
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32 ­ 134550

Integrate w.r.t   (A)   (B) 

 (C)   (D) None
 
 


Watch Free Video Solution on Doubtnut
 
 

33 ­ 134556

Integrate w.r.t x,   (A)   (B) 

 (C)   (D) NONE
 
 


Watch Free Video Solution on Doubtnut
 
 

34 ­ 142048

If

then the values of   are respectively (A)   (B)   (C)

 (D) None
 
 


Watch Free Video Solution on Doubtnut

x, xex(x + 1)−2
ex(x + 1)−1 + C

ex(x + 1)−2
xex(x + 1) − 1 + C

x logx x2 log( ) + k
1

4

x2

e

x2 log( ) + k
1

2

x2

e
x2 log( ) + k

1

4

x

e

∫ dx = a log( ) + b tan−1( )

+ C

2x2 + 3

(x2 − 1)(x2 + 4)

x − 1

x + 1

x

2

a and b ,
1

2

1

2
1, 1

, 1
1

2
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35 ­ 162975

The value of   is equal to
 
 


Watch Free Video Solution on Doubtnut
 
 

36 ­ 199190

 ,and   then   is (A) 

(B)   (C)   (D) 
 
 


Watch Free Video Solution on Doubtnut
 
 

37 ­ 206850

 , where

(A)   (B)   (C)   (D)

none of these
 
 


Watch Free Video Solution on Doubtnut
 
 

38 ­ 211164

If  , then   is equal to (A) 

 (B)   (C) 

 (D) 
 
 


Watch Free Video Solution on Doubtnut
 
 

39 ­ 216495

 ,then what is the value of 

 (A) 7 (B) ­7 (C)   (D) 

∫ (√x + x)dx
e√x

√x

∫f(x)dx = 2(f(x))3 + C f(0) = 0 f(x)
x

2
x2

2
√

x

3
2√

x

3

∫ = ( − tan−1 z) + C
dx

(1 + x4)
1
4

1

2

1

2

log(1 + z)

1 − z

z =
4√1 + x4

x
z =

x
4√1 + x4

z = −
4√1 + x4

x

y(x − y)2 = x ∫ dx
1

x − 3y

log{(x − y)2 + 1}
1

3
log{(x − y)2 − 1}

1

4

log{(x − y)2 − 1}
1

2
log{(x2 − y2 − 1}

1

6

∫x6 sin(5x7)dx = cos(5x7) + c
k

5

k?
1

7
−

1

7
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

Watch Free Video Solution on Doubtnut
 
 

40 ­ 231179

lf  , then the value

of a and c is : (A)   (B)   (C) 

 (D) 
 
 


Watch Free Video Solution on Doubtnut
 
 

41 ­ 252661

 is equal to (A) 

(B)   (C)   (D) none
 
 


Watch Free Video Solution on Doubtnut
 
 

42 ­ 304387

if   and   then   (A)

 (B)   (C)   (D) 
 
 


Watch Free Video Solution on Doubtnut

∫(sin 2x − cos 2x)dx = sin(2x − c) + a
1

√2

a = , C ∈ R
5π

4
a = − , C ∈ R

5π

4

a = , C ∈ R
π

4
a = , C ∈ R

π

2

∫tan(3x − 5)sec(3x − 5)dx sec(3x − 5) + c

sec(3x − 5) + c
1

3
tan(3x − 5) + c

x = ϕ(t) ∫f(x)dx = F(x) ∫f(ϕ(t))ϕ' (t)dt =

ϕ(x) F(t) F(x) F ′ (x)
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43 ­ 324296

 (A)   (B)   (C) 

(D) none
 
 


Watch Free Video Solution on Doubtnut
 
 

44 ­ 364001

If   then p+q

equals (A)   (B) 2 (C)   (D) 
 
 


Watch Free Video Solution on Doubtnut
 
 

45 ­ 369104

 (n is a + ve integer) is equal to (A)   (B) 

 (C)   (D) none of these
 
 


Watch Free Video Solution on Doubtnut
 
 

46 ­ 1126961

If  , then   is (A) 

(B)   (C)   (D) 
 
 


Watch Free Video Solution on Doubtnut
 
 

47 ­ 1265446

The value of  . (where [.] denotes greatest

integer function), is equal to (A)   (B) 1 (C) 

(D) none of these

∫ (1 + 2x)dx
ex

√x
√xex + x + c

ex

√x
2ex√x + c

∫ = px + q loge|cosx + sinx| + c
dx

1 + tanx
3

2

1

2
1

∫
∞

0
xne−xdx n !

(n − 1)! (n − 2)!

∫ = p(x)
dx

x + x7
∫ dx

x6

x + x7
ln|x| + p(x) + C

ln|x| − p(x) + C x + p(x) + C x − p(x) + C

∫
∞

1
[cos ec−1x]dx

cos ec1 − 1 1 − sin 1
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

Watch Free Video Solution on Doubtnut
 
 

48 ­ 1320583

If   then   is

equal to (A) cos   (B)  cos   (C)  cos   (D)  sin 
 
 


Watch Free Video Solution on Doubtnut
 
 

49 ­ 1378397

Suppose   and 

. If C is an arbitrary constant of

integration then which of the following is/are correct (A) 

 (B) 

(C)   (D) 
 
 


Watch Free Video Solution on Doubtnut
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